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1 BEE 500,000( 6,000,000 A 5,500,000
=Fizk 500,000/ 6,000,000{ A 5,500,000
==k 500,000/ 6,000,000 A 5,500,000 (%7 &84
2 wWEE 0 0 0
HEE 0 0 0
fHBE 0 0 0
3 f#HFHE 2,085,103 334,528 1,750,575
fedE 2,085,103 334,528 1,750,575
f2#& | 2,085,103 334,528 1,750,575
4 FEULA 0 0 0
FHURA 0 0 0
MU A 0 0 0
a&t 2,585,103| 6,334,528 A 3,749,425
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. *f - PEE | BEE | am e
1 EEE 400,000 400,000 0
=EE 400,000 400,000 0
=EE 400,000 400,000 WEFET R
2 EBE 330,000 330,000 0
Y 330,000 330,000 OB, ENRIRLA
E 330,000 330,000 O[iRIAFHp%
3 BXE 1,700,000/ 5,500,000 A 3,800,000
BXE 1,700,000[ 5,500,000| A 3,800,000|%:FE T4
EX#| 1,700000{ 5500000 A 3,800,000|EE=HEE
4 FlE&E 155,103 104,528 50,575
FliEE 155,103 104,528 50,575
FliEE 155,103 104,528 50,575
a&t 2,585,103| 6,334,528 A 3,749,425




